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Problem 5
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Problem 7
1+u(t—1)(t?—1) +u(t — 2m)(cost — t?)

L{1} + L{u(t — )% — D} + L{u(t — 2m)(cost — t2)}

1
3 +e S L{(t + 1)? — 1} + e~ 2™ L{cos(t + 2m) — (t + 2m)?}
1
5 +e S L{t? + 2t + 1 — 1} + e 2™ L{cos(t) — (t? + 4mt + 47?)}

1
5 + e7S L{t? + 2t} + e 2™ L{cos(t) — t? — 4mt — 4m?}



Sarah Weinreb

Sarah Weinreb
Problem 7


Problem 8

Take inverse Laplace of each term separately. You will have to complete the square for the first

term...
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Problem 9

Start by finding the Laplace transform of both sides.
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Problem 10

Start by finding the Laplace transform of both sides.
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